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The programmer original program code
is called as :

(A) Object file

(B) Source file

(C) Executable file

(D) Application file

The diagrammatic flow of the program
is represented by :

(A) Flowchart

(B) Program map

(C) Pseudo code

(D) Water fall mode

C-language is :

(A) Assembly Level Language
(B) Low Level Language

(C) High Level Language

(D) All of above

What is a program :

(A) A set of instruction
(B) A set of pseudo code
(C) Both (A) and (B)

(D) None of the above

Who developed the C language :
(A) Dennis Ritchie

(B) Ken Thompson

(C) Matrin Richards

(D) Patric Naughton

WO o ol WRH IS i el Sl €
(A) sl ®Ed

(B) @ s

(C) TR Hlsd

(D) TwATehs™ g

U 1 SARETE aTE fhdeh gRI 3eIen S
22

(A) Tl =12

BERLEE:

(C) Pseudo &is

(D) a1} wia "

C- W ®
NELESRERRGEE
(B) = wored wita
(C) 3% ofae oirast
(D) SWIE g+t

@WW%:

(A) w1 =1 T e

(B) pseudo #IE &1 T&H U
(C) (A) &R (B) =i

(D) SR § 9 g &l

C e k1 foeh™ fohe foranm
(A) 2fr fi=ft

(B) A offvaed

(C) Hiz7 frerd

(D) Hfg e
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10.

Which year was C developed in?
(A) 1975
(B) 1980
(C) 1972
(D) 1971

The C language has been developed at :
(A) AT & T Bell Labs

(B) IBM

(C) Borland International

(D) Sun Microsystems

Every statement in C program is to be
terminated by a ............ .

(A) dot (.)

(B) semi-colon (;)

(C) colon (3)

(D) Question mark (?)

A character variable can store how many
characters at a time?

(A) 1 character

(B) 8 characters

(C) 255 character

(D) None of the above

The preprocessor directive in “C”
programming language begins with :
(A) Hash sign (#)

(B) Backlash and asterisk (/*)

(C) Less than symbol

(D) Two backslash (//)

C = fawm form o & gom o?
(A) 1975
(B) 1980
(C) 1972
(D) 1971

C w1 &1 e el feman 22
(A) T T & I W

(B) emsii

(C) SRl ST

(D) 9 AEHIfa=

C o™ o Yo RIHS ... TN TET
fopen ST 21

(A) f53 ()

(B) s1giferm (;)

(C) =ier (:)

(D) w7 fo=d (?)

T hil IRTTe Tk THF § oo ohiarex
R F Hehal &2

(A) 1 37

(B) 8 &R

(C) 255 @&

(D) ST | T+ off T

10. “C” wwfEgm 9o H wueeR e 3 e

g

(A) T Foed (#)

(B) Sehiel SR amis (/%)
(C) wdtes | =1

(D) & SH=A (/)
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11.

12.

What is the function from where C
programs begins their execution?

(A) start()

(B) begin()

(C) main()

(D) None of the above

C programming language is :

(A) Object oriented programming language

(B) Procedure oriented programming language

(C) Function oriented programming language

(D) None of above

13.

14.

15.

The C language consistof .......... number
of keywords.

(A) 32

(B) 40

(C) 24

(D) 56

Which loop is executed at least once?
(A) for loop

(B) while loop

(C) do-while

(D) None of the above

What is the control character for a single
character?

(A) %c

(B) %d

(C) %i

(D) %p

11.

12.

13.

14.

15.

o€ HF W HeRH T el § C W ST
fooureT & W ®?

(A) =T ()

(B) fafim ()

(C) 5 ()

(D) ST o ¥ wig &l

C Wi oo ®

(A) Sissige Ruee wonfET am
(B) wrdioR siftus wrnfem o
(C) M Aiftude grnfaT s
(D) ST o ¥ =g &l

(O3~ 111 k= A FHiae I & Bl
2

(A) 32

(B) 40

(C) 24

(D) 56

1 | o9 %A ¥ HH TH 9R fpataa
Sl

(A) ™I 1

(B) = <d

(C) 3 =

(D) SR | ¥ HIE &I

fHTe et o fou wudia ohiE
27

(A) %

(B) %z

(C) %i

(D) %t
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16.

17.

18.

19.

What is the control character for a
decimal integer?

(A) %c

(B) %d

(C) %i

(D) %p

A is simply a name for a number.
(A) Variable
(B) Constant
(C) Keyword
(D) Operator

AC variable cannot start :

(A) Anumber

(B) A special symbol other than underscore
(C) Both of the above

(D) An alphabet

A function which calls itself is called a
............. function.

(A) Self-function

(B) Auto function

(C) Recursive function

(D) Static function

16. SHITA SR o foIU Uil ohisel ol

T

(A) %
(B) %t
(C) %i
(D) %t

17, . & % U shael T H1 A9 2

(A) aRTset
(B) *iwdz
(C) FaE
(D) &R

18. AC dftusdl gy &1 & Hohal

(A) T ge

(B) 3TeT&hR o fc@l T fav wdie
(C) ST 3T

(D) T =vfATeN

19. TF GH S W F FHiA FE § 39

.............. SENEIETAIS I
(A) Vo T

(B) @i e

(C) frrfifa wherem

(D) BfeF HRE
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20.

21,

Which of the following keywords is used
to declare a structure?

(A) Default

(B) Struct

(C) Structure

(D) Static

Which is the correct form of a pointer
declaration?

(A) int pointer*;

(B) int *pointer;

(C) int pointer*

(D) None of the above

22. Which of the following is a keyword?

(A) Void
(B) Goto
(C) Regqister

(D) None of the above

23. What is the range of short int?

(A) 0 to 65535
(B) —32768 to 32767
(C) —128 to 127

(D) 0 to 255

20. TR Fi fegisr & o fou f=fafea o

¥ HH I KIS F1 ST Bl 2?2
(A) fewiez

(B) &x

(C) &=

(D) wfesh

21. U fedoiy &1 SH § Hal w872

(A) int pointer*;
(B) int *pointer;
(C) int pointer*

(D) ST o ¥ &g &l

22. frefafed § § ®H 9 TF FEE 7

(A) a8

(B) T,

(C) Forex

(D) ST o ¥ &g &l

23. shortint &1 & 71 272

(A) 0 § 65535

(B) —32768 & 32767
(C) —128 & 127

(D) 0 & 255
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24. Which of the following is used to

25.

26.

27.

represent a null character?
(A) \n
(B) \0
(C) \b
(D) \f

Which of the following operators is used
for making comparison between different
operands :

(A) Arithmetic operator

(B) Relational operator

(C) Logical operator

(D) Assignment operator

In C programming, all executable code
resides within a .......... :

(A) Function

(B) Statement

(C) Loop

(D) None of the above

The value of the ............ is stored in the
memory of the computer.

(A) variable

(B) variation

(C) volume

(D) None of the above

24. frfafea § 9 fwget ST null character

25.

26.

27.

@ g9 & e fFa s 22
(A) \n
(B) \0
(C) \b
(D) \f

frafafea o 9 fg At &1 svam fafby=
AR o o9 o w3 o fow fwan sma
22

(A) TeHfed ST

(B) TeeHal sAfex

(C) wifSTehat 3TfqieX

(D) eTErEAHE 3faiet

C dmfHn #, g+t foed e e 2
FiR & 2

(A) R

(B) wHe

(C) T

(D) SR | ¥ HIE &I

.............. F TH HIR ® WA H GURG
g 2

(A) aRTaTA

(B) aftae

(C) A

(D) ST H ¥ HE e
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28.

29.

30.

31.

The default initial value for automatic
variables is ............ .

(A) garbage value

(B) global value

(C) local value

(D) None of the above

The default initial value for external
variables is .......... :

(A) zero

(B) one

(C) two

(D) None of the above

Al is a variable that represents
the location of a data item or memory
area.

(A) data

(B) pointer

(C) value

(D) None of the above

A pointer, also known as an address, is
sometimes also called a ............ .

(A) reference

(B) keyword

(C) variable

(D) None of the above

28. 2eMfew dftuacy & fou fewiee wRfve

29.

30.

31.

(A) TS
(B) veie@ e
(C) et e
(D) SWF | q FE T

T dfiueed o fau fewice arfves 7

(D) SR ¥ 9 g &l

...................... TF IRTEA T S A M
T R &9 % A w1 gt s
2l

(A) B

(B) diEeX

(C) 7=
(D) S H § g TE

T e, f59 Te9 o w9 H ot S S €,
A HA-FHA .......o... off gl S 2l

(A) fr=a

(B) #ie

(C) aftTsa

(D) ST H § g TE
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32. An....... is a variable to represent multiple

33.

34.

35.

memory locations with the same name.
(A) array
(B) structure
(C) union
(

D) None of the above

Memory allocation is done in C language
in ... .
A) one way

(

(B) two ways
(C) three ways
(

D) None of the above

Static allocation is done by using
A) pointer
B) variable

C) array

~ N M~~~

D) None of the above

............ refers to the allocation of memory
during program execution.

(A) Static Memory Allocation
(B) Dynamic Memory Allocation
(C) Both (A) and (B)

(

D) None of the above

10

33.

34.

35.

““““““““

T & W 9 T A
THl F R el T afuEd 7l

Lfesh Talehy™

IERIES G

““““““““

........... Ty FreaeA o <RE HERY o S
1 Heidq e 2l

(A) Bfew 1 Terehs™
(B) SIS HHRI TaAlehy™
(C) (A) iR (B) <

(D) SR | ¥ HIE &I
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36.

37.

38.

39.

40.

............. function is used to allocate a
block of memory.

(A) malloc()

(B) calloc()

(C) relock()

(D) None of the above

.......... can be defined as a finite, ordered
collection of homogeneous elements that
are stored in contiguous memory locations.
(A) Structure

(B) Union

(C) Array

(D) None of the above

............ arrays are collection of
homogeneous data elements where the
elements are ordered in number of rows
and columns.

(A) One dimensional

(B) Two dimensional

(C) Multi-dimensional

(D) None of the above

An array of charactersiscalleda ..........
(A) String

(B) Character

(C) Both (A) and (B)

(D) None of the above

The function ............ is used for finding
the number of characters present in a
given string.

(A) strcat()

(B) strepy()

(C) Both (A) and (B)

(D) strlen()

36.

37.

38.

39.

40.

11

............ R 1 STANT AR o solidh i
AEfed o fog foan S 2

(A) malloc()

(B) calloc()

(C) relock()

(D) SR ¥ 9 g &l

............... ! TSI qeall o Teh HifHd, HHes
TUE o ®9 4 Rt e s Hehar @ S
af=fed TE{ wepyH ¥ SUE B 2

(A) TFH

(B) FfT

(C) W

(D) SR ¥ 9 g &l

........... W T 22 el & GUE © Sl
dcl i dfeEl SR W R G o wHAS
fepan < 21

(A) T feuema

(B) = fermerma

(C) Wt feimeren

(D) SR § ¥ HIE &l

“““““““

(B) S
(C) (A) ¥R (B) i
(D) S H § g T

............ R &1 39AM foedt few o fign o
HoR U H HEd 9w o fo
S 21

(A) strcat()

(B) strepy()

(C) (A) iR (B) ZHT

D) strl
(B) strient) [ SECIT-01]
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